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C TR E SCHE T AR N S AR g LT ?

(A) '3z Lirfz
(B) /* & Esrjz
(©)/ & 2irir |
(D) /] &Hsxfa

. CICHET e — 20 38 8d v 3 B 4L 17 2

(A) start()

(B) main()
(C) begin()
(D) initial()

L TR EACICH F3 AR R E LA
(A) for you

(B) 4U

(C) _4u

(D) #4U

L Tl E AL C T kR TR 2
(A) string

(B) double

(C) float

(D) void

. TAIR- B F R DTRTG R
(A) char s[]="abc";

(B) char s[3]="abc";

(C)char s[]="a";

(D) char s[]={"a", 'b', 'c', \0'};

L EE 11%4 iR e % i
(A)0
(B)1
(€2
(D)3

TR LR g2
(A) char c(x, inty);

(B) float b(int x, int);

(C) int a(int, float);

(D) void d(void);
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8.

10.

11.

12.

13.

¢ arg#c asintd) ] 0 b i floatd] %) » ¢ % double®) &) » d & char 2 %] » BI:E & 3% Mat+h-c*d |
EE TN S
(A) int

(B) float

(C) double

(D) char

¢ 4v a=4,b=3 - BI c=(a<b) ?a+bia-b; $1 {71 i
(A)-1
(B)1
€7
(D)0

F % &7 F B#define SUM(a,b) ath - B fadzs:¢ ¢ 31 % ¢ =SUM(4,5) * SUM(2,3); RI#
718 > cenid i

(A)45

(B)14

(©)17

(D)25

A28 F 5 intsum=0; for(inti=0; i<10; i++);  for (int j=0;j<10;j++) sum++;
PIAZN (718 > sumeiE 4

(A)1

(B) 10

(C)81

(D) 100

4e% i=10;p=5; B p+=++i*5 2 @ E*
(A) 5
(B)50
(C)55
(D)60

#2574 int num[5]={5,10,15,20,25}; int *ptr; ptr = &num[2]; B|*(ptr-2) %+t
(A) 5
(B) 3
©)8
(D) 13
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14.

15.

16.

17.

18.

19.

20.

#2.3% char s[]="ABCDEFG"; char *p=&s[5]; while(--p>s) printf("%c", *p);
o

(A) GFEDCBA

(B) FEDCBA

(C) EDCBA

(D) DCBA

o apl fep2 A daint Audr ko k S int A 2 e d AT A BT

(A) *p1=*p2;
(B) p1=p2;

(C) k=*pl + *p2;
(D) k=p2 +p1,;

Mot s inta[3][d] o TR K 7D

(A)7 12 % a0]=6; 4y L5~ % hig

(B) a[1]* % — B i=xt ¥ #

(C)a fra[0]’ £ 4p I chiznk ¥ #

(D)a 5|7 rig = & d a0] ~ a[1] % a[2] = B ~ & e =& - AL 7|

T 7| e dﬂz S L = w7 A RS TN s S
(A) inta[3][2]={{1,2,3},{4,5,6}};

(B) int a[][2]={1,2,3,4,5,6}:

(C) int a[3][]={1,2,3.4,5,6}:

(D) int a[][|={1,2,3,4,5,6}:

F= A s inttim][n] > B3 E E- ~EI][]FT iR SN R P2
(A) t + (i*n+j)*sizeof(int)

(B) t + (i+j*n) *sizeof(int)

(C) t + (i*n+j-1)*sizeof(int)

(D) t + (i+j*n-1) *sizeof(int)

R CRNIRETICE- I & ¥
(A) while(x);
(B) for(5;);

(C) do{ }while(-x);
(D) for(;x==0;);

Ex=2 Blvi— B Y 5 F fawhile coiE 2 N pE s & H T Bl F 2
(A) x==0

(B) x

(C) x<>0

(D) 'x
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21. - ®425% intfun(int x, inty){ return (x<=1)?vy: fun(x-1,y/2) ; } - R]=f+e? fun(b, 111) & =
Ba %N
(A) 6
(B)7
(O)
(D)9

22. #2.3¢ main(){ inti=1; while (i++<12) if(i%3==1) printf("%d",i); else continue; }
é%—f’p“—,ﬁ!ﬁis?]ﬂ',ﬁv.%;-% 59
(A) 25811
(B) 14710
(C) 4710
(D) 36912

23. 42.5%
int a=5, b=10;
func(int ¢) { printf("%d%d%d", a, b,c); }
main() { intb=3,d=2; a+=d; func(d); }
Fred ﬁi%l denidg 509
(A) 732
(B) 7102
(C) 532
(D) 5102

24.CIC++ #F3 ¢ 74 inta; BP1F a thislpMizn > Bz * T 5|78 2
(A) &a
(B) *a
(C) %a
(D) #a

25. #23% intnum[5]={5,10,15,20,25}; int*ptr=num; » T fr K2 ELH T 7 ?
(A) *(ptr+1)
(B) *(ptr++)
(C) num[1]
(D) num+1

(575711 (4 5F1]



